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Introduction
-

One of the most important queueing
modes is the 14/14/1 queue .
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Question : which others
queueing systems have a stationary

distribution with a similar form?
-

Answer : E.g .
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Compensation approach
-

The model

→

The conditions
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The stability
condition

-

The main

result



The process

-

The numerical

procedure



Compensation approach example : the 2×2 switch
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the general

stability
condition
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The general
process
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Setting pm ,n= amBm yields



The starting term for the horizontal :
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There is a starting term for the vertical : ( Io ,
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Accounting for the second solution 5mm yields



The numerical

procedure
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